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QUESTION 1

A technician needs to replace the processor on a server\\'s motherboard. The motherboard supports Socket 478
processors. Which of the following processors would be compatible with this motherboard? 

A. AMD Athlon 

B. Pentium III 

C. Atom 

D. Pentium 4 

Correct Answer: D 

 

QUESTION 2

A hypervisor is used to do which of the following? 

A. Create server baselines 

B. Manage virtual machines 

C. Monitor network traffic 

D. Manage disk space 

Correct Answer: B 

 

QUESTION 3

Which of the following hardware components is necessary for a server to access data directly on a fiber channel based
SAN? 

A. Gigabit NIC 

B. RAID controller card 

C. SATA controller card 

D. Host bus adapter 

Correct Answer: D 

 

QUESTION 4

Which of the following storage technologies connects by TCP/IP and can slow down network traffic? 

A. SAN 
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B. Optical jukebox 

C. NAS 

D. Tape library 

Correct Answer: C 

 

QUESTION 5

Which of the following storage solutions attaches to a server either through a fiber channel connection or is presented to
the server via iSCSI? 

A. DAS 

B. NAS 

C. SAN 

D. WORM 

Correct Answer: C 
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